4 2diffe;x?

YJFupdatefVEE, tESEIEBESIZEHE EXEFRIRIXINAIFibert mELER, BHURNEREMFFibertm R, tREE@FRAIDIEIA.

diffiifE:

— /" DOMT fEE—HZISEZ 284115 SHMtEX.

current Fiber, {181ZDOMT EE2ERETE, current FiberftEiZDOMT &N BIFibertT &,

workInProgress Fiber, {1EE1ZDOMT 2B ERREFFHEREITTES, workinProgress Fiber{f{RZDOMT =2XI M AYFiberTts =,

DOMT =AE.
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ZnewChildZE!Hobject,
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reconci leChildrenArray

FH—ttisHAnewChildren

=B ZTRIRT R

FRENTRAIf, —fgiRIEobject,
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REACT ELEMENT TYPE, Bfreact elementyy
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1. ®@HAnewChildren, ttinewChildren[il5
¥JhzoldFiber, ¥ 2SS
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oldFiber.sibling

3. keyA[E@, A~rIER, BtHiERD, S
[h4ER

4. keytH[E]. typeA~El, oldFiberfrid
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newChi ldren5oldFiber[EBTiR A newChi ldren)%#&[H5E, oldFiber newChi ldren¥®[h5E, oldFiber)% newChildren, oldFiber&};%¥&[A
5T 1 77 5¢ 1 77 5¢ 5T

E— N iber To =3

V& [ 3| "newChi ldren, RHESE _ » o
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Demo1l Demo?2

// ZBi // ZBi
abcd abcd

/] Za =)
acdb dabc

===F—EHHR=== ===F—EHHR===
a (ZJ3) vsa (Zgai) d (ZFF) vsa (Zgai)
keyAZE, aIEH keye(Zs, ABEEH, BEHEH
lERT a 3gzaYoldFiber (ZEIEYa) FEZRIAVENAE (abed) #ZFE5[|40 ===F—RHER===
FirLA lastPlacedIindex = 0;

===F I RHHR===

PSSR newChildren === dabc, &H7, F*==RTHBERIBT R
oldFiber === abcd, &7, AREFUTRBEAFTTTR
c (ZJJ) vsb (Zg)

keyl(ZE, A8eEH, HiHE—BH RFlsRoldFiber (abcd) RfF/Amap
ItbAT lastPlacedindex === 0;

— == REE=== $rarimEhFlIsRnewChildren

===%:$‘Eﬁﬁiﬂ e // 5ﬁﬁﬂldFiber: abcd
newChildren === cdb, §HTR, A=EHRITHIFRIEE= // ZBinewChildren dabc
oldFiber === bcd, &7, AEERTREAFTTRA

key === d #£ oldFiberdh&F{E

FElRoldFiber (bcd) fR7F/amap const oldindex = d (Zgi) .index;
IltAY oldindex === 3; // ZAIT5/RA abed, ArlAd.index === 3
// 4aioldFiber: bced Lv#; oldIndex 5 lastPlacedindex:
// HaiinewChildren: cdb oldindex 3 > lastPlacedindex 0
NI lastPlacedindex = 3;
iR AFISnewChildren d o REAT

key === ¢ 7 oldFiberhfZ7t $rspmEhFlsrnewChildren
const oldindex = ¢ (ZRgI) .index;

IlEAY oldindex === 2; // ZRIT R abed, FrlAcindex === 2 // HaioldFiber: abc
LV oldindex 5 lastPlacedIndex; // ZBiinewChildren abc

4NER oldindex > = lastPlacedIndex AFRZAIEHT R AR =556/ key === a 7£ oldFiberd £
F#F lastPlacedIndex = oldIndex; const oldindex = a (Zgi) .index; // ZBIT/RA abed, Frlla.index === 0
N8R oldindex < lastplacedindex iZAIS TG R ZBHEARNMNERS /NFXREFREHANVER IltAT oldindex === 0;
5|, KT Z TR [AaZEa)] Lv#3F oldIndex 5 lastPlacedindex:
oldindex 0 < lastPlacedindex 3
E=HIFh, oldindex 2 > lastPlacedindex 0, N aPEEaAEE
NI lastPlacedindex = 2;

CHRAEARE grepimHklsrnewChildren

PrsrRpFRIGnewChildren // HnioldFiber: bc
// ZrunewChildren bc
// ZaioldFiber: bd
// HainewChildren: db key === b #£ oldFiberdh&F{E
const oldindex = b (Zgi) .index; // ZEIT5/R/9 abed, Frllb.index === 1
key === d 7£ oldFiberd#FE IttAt oldindex === 1;
const oldindex = d (ZRgi) .index; V& oldindex 5 lastPlacedIndex;
oldindex 3 > lastPlacedindex 2 // ZBITmmR8 abed, FrlAd.index === 3 oldindex 1 < lastPlacedIindex 3
M lastPlacedindex = 3; N bPREERGEE)

d B RAEATE

iR AFISnewChildren
kemRhFEIsnewChildren

// HnijoldFiber: c
// HnijoldFiber: b // HaiinewChildren ¢
// ZaunewChildren: b

key === ¢ 7 oldFiberhfZ7t
key === b £ oldFiberdhF{E const oldindex = ¢ (Zgl) .index; // ZBIT /I abed, Frlic.index ==
const oldindex = b (Zgi) .index; IltAT oldindex === 2;
oldindex 1 < lastPlacedindex 3 // ZEITmm=/8 abed, Frllb.index === 1 tk#: oldindex 5 lastPlacedIndex;
N bt REERGEE] oldindex 2 < lastPlacedindex 3
===F_WIRHER=== N P RTEERGHEE]




